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�!� %$�$%&�@IVBVI %�)"�* 2��*#�)"!*2�$#�%3
!�$!"��&"�&>)�&�! $%,%�%<�5#<!"23�,#)�*%#�!"
�!"*�,�$$23��#<�*!"�%�=!)!+*%�,$%'!"��*#5!)#.
>?%3�"���.!5�#�)%4�	!"� �$%��+*%,���0�"�,#).
*%(���!� %$�$%0�@IVBVI�%,��)���!7$20�3#*#')�*4
�& �A��,�$)!"�(Ga, In)�+*!&"�&�)�+�*�,�$$6>�"#.
��$)$!�)84�B#"%�%,!�)8�+#*#,�)*#�*�1�)'%�PbTe
!)�'!$(�$)*#(%%�A)%3�,�)#��!"�+*!3! %)�/�*�<
*�<'%0�,%$%,6,�[1-3]4��5$#*67�$2�#$%�)*6')6*.
$2�� �=�')2�+*%���-%*!"#$%%�)���6*% #��"%$(#
�6*8,!0�%�"%�,6)!,�[1, 4]4���%&$%��'!$(�$)*#(%%
-#�!-�$!"�$#�'!$(�$)*#(%>��"!5! $23�$!�%)���0
<#*& !"�"�PbTe�%,��)�$�,!$!)!$$20�3#*#')�*�C<#.
"%�%,!�)%�+*!3! &)�/�*�<�,#'�%,6,D [1].

	*%�!5*#<!"#$%%�)"�* !-!�*#�)"!*#�+*!%�3!.
 %)�%<,�$�$%���!'#�8$!-!�!'*67�$%&�#)!,!"��/)!
+*%"! %)�'�%<,�$�$%>�A��')*!$$!-!��+�')*#�"�.
?��)"#� %�'#7�$%>�'*%�)#��%/��'!0�*�1�)'%�,#).
*%(2��!5*#<!"#$%>� !+!�$%)��8$!-!�/%��#��!5.
�)"�$$23� �=�')!"4�����)!*!$$���%<6/�$%��=%<%.
'!.3%,%/��'%3��"!0�)"�'*%�)#��%/��'!0�,#)*%(2
+*%���-%*!"#$%%�$�!53! %,!� �&�+!$%,#$%&�=6$.
 #,�$)#�8$23�#�+�')!"�+!"� �$%&�+*%,��%4

��$#�)!&?�0�*#5!)��%���� 6�)�&�"�%&$%��+*%,�.
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,�*$!-!�*#�+*� ���$%&���-%*6>?%3�+*%,���0
-#�!-�$!"�$#"��'%�+! "�*-#�%�-!,!-�$%<%*6>?�.
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)6*��$#�GHH�I�$%7��)�,+�*#)6*2�+�#"��$%&�����
"�)�/�$%��J�/#�!"4

��&�'!$)*!�&�3%,%/��'!-!��!�)#"#�+!�6/�$.
$23�!5*#<(!"�+*%,�$&�%��!'#�8$20�*�$)-�$!.
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*�$)-�$!-*#=%/��'%0�#$#�%<�%�+!�8<!"#�%� �&
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'!-!�'*%�)#��#�PbTe�+*%3! %)�&�/�)2*��#)!,#��"%$.
(#�%�/�)2*��#)!,#�)���6*#4��)�> #�*�$)-�$!"�'#&
+�!)$!�)8�PbTe ,!7�)�52)8�"2*#7�$#�C"�-/�,3D�/�.
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[5]. �#'�"% $!�$#�*%�4�G��!5��<#"%�%,!�)%�%,�>)
!5?%��/�*)24��5��'*%"2��,!7$!�*#< ��%)8�$#�/�.
)2*��6/#�)'#: +�*"20��+*%�"��%/%$��x�R�CH�;�H4HGD
�!!)"�)�)"6�)�*�<'!,6�+# �$%>�+#*#,�)*#�*�1�).
'%4��#�")!*!,�6/#�)'��'*%"2���+*!3! &�/�*�<�,%.
$%,6,��+! $%,#>)�&�""�*3�� !3! &� !�,#'�%,#�8.
$!-!�<$#/�$%&�+*%�x�R�H4H94�	!����/�-!�$#�)*�)8�,
6/#�)'��$#5�> #�)�&�,� ��$$20��+# �+#*#,�)*#
*�1�)'%���6"��%/�$%�,�'!$(�$)*#(%%�-#�!-�$!"4��#
/�)"�*)!,�6/#�)'��+#*#,�)*2�*�1�)!'�$��<#"%�&)
!)�'!$(�$)*#(%%�-#�!-�$!"4

����,!)*&�$#��3! �)"#�'*%"23�G�%�9��%,��)�&�)*%
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�#�*%�4 2�+*� �)#"��$2�<#"%�%,!�)%�-% *!�)#.
)%/��'!0�%� *�$)-�$!"�'!0�+�!)$!�)%� )"�* 23
*#�)"!*!"�!)�'!$(�$)*#(%%�+*%,��%�3�!*#4

�#'�"% $!�%<�A)!-!�*%�6$'#��-% *!�)#)%/��'#&
+�!)$!�)8�C'*%"#&�9D�"�<#"%�%,!�)%�!)�'!$(�$).
*#(%%�3�!*#�"� �)���5&���!7$2,�!5*#<!,4���� 6.
�)�!),�)%)8��/)!�%<,�*�$$2��<$#/�$%&�-% *!�)#.
)%/��'!0�+�!)$!�)%�+! "�*7�$2�%�'#7�$%&,�%<.
<#�"!<,!7$!-!�$#�%/%&�!5S�,$23� �=�')!"�"$6).
*%�!5*#<(#4�N�!/$!�)8��)*6')6*2�'*%�)#��#�)#'.
7�� %�'#7#�)� +!�6/�$$2�� <$#/�$%&� +�!)$!�)%4
	!A)!,6� �&�'!�%/��)"�$$!0�%$)�*+*�)#(%%�%
*#�'*2)%&�+*%/%$�$�,!$!)!$$!0� <#"%�%,!�)%
C'*%"#&�9��*%�4 2.D��$�!53! %,2� !+!�$%)��8$2�
%���� !"#$%&��)*6')6*2�%�$#5!*#��)#)%�)'%�+!
%<,�*�$%&,�+�!)$!�)%4�� $#'!��$��,!)*&�$#�=�6'.
)6#(%%�%<,�*�$%0��"�(��!,�,!7$!��'#<#)8��/)!�+*%
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�&�)�<#'�>/%)8��/)!�""� �$%��3�!*#�+*%"! %)�'
!5*#<!"#$%>�"#'#$�%0��'!)!*2��+!$%7#>)�+�!).
$!�)8�)"�* 23�*#�)"!*!"4

	*%�!5*#<!"#$%%�)"�* 23�*#�)"!*!"�+�*%! 
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�#%5!����)!/$!� <#'!$���-#* #� �!5�> #�)�&�
'!- #�'!,+!$�$)2�%,�>)�! %$#'!"6>��)*6')6*6
%� �3!76>�=%<%'!.3%,%/��'6>�+*%*! 64��6?�.
�)"�$$2��!)'�!$�$%&�!)�<#'!$#���-#* #�$#5�>.
 #>)�&�� '!- #� *#�)"!*&�,#&� +*%,��8� &"�&�)�&
A��')*%/��'%�#')%"$!0�"�%�3! $!0�,#)*%(��%�%,�.
�)�%$6>�C+!��*#"$�$%>���%�3! $!0�,#)*%(�0D�'*%.
�)#��%/��'6>��)*6')6*64����%�%�3! $#&�,#)*%(#
%�+*%,��8�3#*#')�*%<6>)�&�'!"#��$)!.+!�&*$2,
C%�%�%!$$2,D�)%+!,��"&<%��)!�"���6/#���'!- #�'*%.
�)#��%/��'%��*�1�)'%�'!,+!$�$)!"�*#�)"!*#�!).
$!�&)�&�'�*#<$2,��%$-!$%&,��(����!!5*#<$!�%�.
+!�8<!"#)8�"�=!*,6���C�D�$��+�*%! 2�% �$)%/$!.
�)%��#�'*%�)#��!3%,%/��'%��%!$$2��*# %6�24����.
�6*% ��"%$(#�'*%�)#��%<6�)�&�"�'65%/��'!0��)*6'.
)6*��)%+#�NaCl��0! % ��"%$(#�;�"�-�'�#-!$#�8$!0�
#�3�!*% ��"%$(#�– "�*!,5%/��'!04���� !"#)��8.
$!�� $�!53! %,!�%�+!�8<!"#)8�%!$$2��*# %6�2
Pb2+, Te2-, I-, Cl-.�	!�	!�%$-6� : R(Te2-) = 0.221 $,�
R(Cl-) = 0.181 $,��R(I-) = 0.220 $,�[6].

�# %6��%!$#��"%$(#�*#��/%)#�,�%<�+#*#,�)*#
*�1�)'%�a

PbTe
 $���-%*!"#$$23�'*%�)#��!"�)���6.

*% #��"%$(#: a
PbTe

 = 0.6454 ±0.0001 $,����� !"#)��8.
$!�'*%�)#��!3%,%/��'%0�%!$$20�*# %6���"%$(#
R(Pb2+) = (a

PbTe 
– 2R(Te2-))/2 = 0.1017�$,4

���%/%$#�+#*#,�)*#�*�1�)'%�)"�* !-!�*#�)"!.
*#�a
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�$#�!�$!"��PbTe�,!7�)�52)8�"2*#7�$#�/�*�<
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i
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)�+! *�1�)'#3���6/�)!,�,!�8$!0� !�%

'#7 !-!�%!$#U

i i i iss A A B B
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a (2R x 2R x )= +∑                                        (4)

��&�)"�* !-!�*#�)"!*#�����
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x 
5�<�6/�)#�$#.

�%/%&�"#'#$�%0�=!*,6�#�C4D�+*%,�)�"% U
a(PbTe

1-x 
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x
) = 2(R(Cl-)- R(Te2-)) ·x + 2R(Pb2+) + 2R(Te2-)

 (5)
	! �)#"�&&��!!)"�)�)"6>?%��%!$$2��*# %6.

�2��+!�6/%,:
a(PbTe

1-x 
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x
) = -0.08x + 0.6454 [$,]                         (6)

�*#=%'��%$�0$!0�=6$'(%%� (6)�%<!5*#7�$�$#
*%�4�G��%$%�0��4��#'�"% $!�%<�A)!-!�-*#=%'#���
6"��%/�$%�,��! �*7#$%&�3�!*#�C+*%�,#�23�'!$.
(�$)*#(%&3D��+#*#,�)*�*�1�)'%�)"�* 23�*#�)"!.
*!"�+# #�)�5!����52�)*!��/�,�A)!���� 6�)�+!�<#.
'!$6���-#* #4���� !"#)��8$!��!5*#<!"#$%��)"�*.
 !-!�*#�)"!*#��bTe

1-x
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x
� $��8<&�!+%�#)8� )!�8'!

<#,�?�$%�,�)���6*#�3�!*!,4���<'!��+# �$%��+#.
*#,�)*#�*�1�)'%�$#�$#/#�8$!,�6/#�)'��"!<,!7.
$!�����%�+*%�A)!,�!5*#<6>)�&�"#'#$�%%��'!)!*2�
"� 6)�'� !+!�$%)��8$!,6��7#)%>�*�1�)'%4

�<��%)�*#)6*$23� #$$23�[1] %<"��)$!��/)!�<#.
"%�%,!�)%�'!$(�$)*#(%%�$!�%)���0�<#*& #�!)�'!$.
(�$)*#(%%�-#�!-�$!"�"�PbTe�+*!3! &)�/�*�<�,#'�%.

,6,��+!����'!)!*!-!��)#5%�%<%*6>)�&�$#�$�'!)!.
*!,�<$#/�$%%4��#�6/#�)'��+# �$%&�+#*#,�)*!" *�.
1�)!'�$#5�> #�)�&�*�<'!��+!"21�$%��'!$(�$)*#.
(%%�A��')*!$!"��/)!��!!)"�)�)"6�)� !$!*$!,6� �0.
�)"%>�-#�!-�$!"4�	*%� #�8$�01�,�6"��%/�$%%��!.
 �*7#$%&� -#�!-�$!"�+*!%�3! %)�*�<'!��+# �$%�
'!$(�$)*#(%%�A��')*!$!"���,#'�%,6,!,�+*%�,!�8.
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